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gm_mÝ` {ZX}e :  

(i) g^r àíZ A{Zdm`© h¢ & 

(ii) àíZ g§»`m 1 go 5 VH$ A{V bKw-CÎmar` àíZ h¢ & àË`oH$ àíZ Ho$ {bE 1 A§H$ 
{ZYm©[aV h¡ & 

(iii) àíZ g§»`m 6 go 10 VH$ bKw-CÎmar` àíZ h¢ & àË`oH$ àíZ Ho$ {bE 2 A§H$ 
{ZYm©[aV h¢ & 

(iv) àíZ g§»`m 11 go 22 VH$ ^r bKw-CÎmar` àíZ h¢ & àË`oH$ àíZ Ho$ {bE 3 A§H$ 
{ZYm©[aV h¢ & 

(v) àíZ g§»`m 23 _yë` AmYm[aV àíZ h¡ Am¡a BgHo$ {bE 4 A§H$ {ZYm©[aV h¢ &  

(vi) àíZ g§»`m 24 go 26 VH$ XrK©-CÎmar` àíZ h¢ & àË`oH$ àíZ Ho$ {bE 5 A§H$ 
{ZYm©[aV h¢ & 

(vii) Amdí`H$VmZwgma bm°J Q>o~bm| H$m à`moJ H$a| & H¡$ëHw$boQ>am| Ho$ Cn`moJ H$s AZw_{V 
Zht h¡ & 

General Instructions :  

(i) All questions  are compulsory. 

(ii) Questions  number  1  to  5  are  very  short-answer  questions 

 and  carry 1 mark each. 

(iii) Questions number 6 to 10 are short-answer questions and carry 

2 marks each. 

(iv) Questions  number  11 to 22  are  also  short-answer  questions 

and carry 3 marks each. 

(v) Question number 23 is a value based question and carries  

4 marks. 

(vi) Questions number 24 to 26 are long-answer questions and 

carry 5 marks each. 

(vii) Use Log Tables, if necessary. Use of calculators is not allowed. 
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1. AmpÊdH$ R>mog Am¡a Am`{ZH$ R>mog àË`oH$ H$m EH$-EH$ CXmhaU Xr{OE & 1 
Give an example each of Molecular Solid and Ionic Solid.     

2. ‘YwE±’ Ho$ {bE n[a{jßV àmdñWm Am¡a n[ajonU _mÜ`_ {b{IE &  1 
Write the dispersed phase and dispersion medium of ‘smoke’.  

3. O~ EH$ Cnghg§`moOZ `m¡{JH$ PdCl2 . 4NH3 H$mo AgNO3 Ho$ gmW {_bm`m 
OmVm h¡, Vmo à{V EH$ _mob `m¡{JH$ Ho$ {bE AgCl Ho$ Xmo _mob Adjo{nV hmoVo h¢ & 
g§Hw$b H$m g§aMZmË_H$ gyÌ {b{IE &  1 

When a coordination compound PdCl2 . 4NH3 is mixed with 

AgNO3,  2 moles of AgCl are precipitated per mole of the 

compound. Write the structural formula of the complex.  

4. ~opÝµOb ŠbmoamBS> SN1 A{^{H«$`m Ho$ à{V AË`ÝV A{^{H«$`merb hmoVm h¡ &  
Š`m| ?  1 

Benzyl chloride is highly reactive towards SN1 reaction. Why ?     

5. {ZåZ{b{IV A{^{H«$`m _| A Am¡a B H$s g§aMZmE± {b{IE : 1 

 

Write the structures of A and B in the following reaction :   

 

6. {ZåZ{b{IV Ho$ {bE H$maU {b{IE :  

(a) gm_mÝ` Ob H$s Anojm bdUr` Ob _| bmoho na O§J Vrd«Vm go bJVr h¡ &  
(b) ewîH$ gob go {^Þ, _H©$ar gob H$m {d^d g§nyU© H$m`© Ad{Y _| pñWa ahVm 

h¡ &  2 

  AWdm                                                        

 BªYZ gob H$mo n[a^m{fV H$s{OE &  H2 – O2 BªYZ gob _| BboŠQ´>moS> A{^{H«$`mE± 
{b{IE &    2   
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Account for the following :  

(a) Rusting of iron is quicker in saline water than in 

ordinary water.  

(b) Unlike dry cell, the mercury cell has a constant potential 

throughout its usual life.      

  OR                                                        

Define fuel cell. Write the electrode reactions in H2 – O2 fuel 

cell.  

7. (a) A{^{H«$`m  2X  X2  Ho$ {bE, O~ (X) H$s gmÝÐVm 27 JwZr ~‹T> OmVr 
h¡, Vmo A{^{H«$`m doJ VrZ JwZm hmo OmVm h¡ & A{^{H«$`m H$s H$mo{Q> Š`m h¡ ?    

(b) A{^{H«$`m doJ na Vmn H$m Š`m à^md hmoJm ?  2   

(a) For the reaction 2X  X2, the rate of reaction becomes 

three times when concentration of (X) is increased  

27 times. What is the order of the reaction ?    

(b) What will be the effect of temperature on the rate of  

reaction ?    

8. (a) µ\$m°ñµ\$moag Ho$ Xmo Am°Šgmo-Aåbm| Ho$ gyÌ {b{IE &     

(b) BrF5 H$s AmpÊdH$ Á`m{_{V H$m Zm_ {b{IE &   2   

(a) Write the formula of two oxoacids of phosphorus.     

(b) Name the molecular geometry of BrF5.   

9. {ZåZ{b{IV Ho$ {bE H$maU {b{IE :   2 
(a) MnO jmar` h¡ O~{H$ Mn2O7 Aåbr` &   
(b) b¡ÝWoZm°`S> AmHw§$MZ H$s VwbZm _| EopŠQ>Zm°`S> AmHw§$MZ A{YH$ hmoVm h¡ &  >  
Account for the following :  

(a) MnO is basic whereas Mn2O7 is acidic.   

(b) Actinoid contraction is greater than lanthanoid 

contraction. 
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10. {ZåZ{b{IV n[adV©Z H¡$go g§nÞ {H$E OmVo h¢ ? 2 
(a) \$sZm°b go EogrQ>moµ\$sZmoZ   
(b) EWoZ¡b go àmonoZ-2-Am°b    

How are the following conversions carried out ?  

(a) Phenol to Acetophenone   

(b) Ethanal to Propan-2-ol  

11. EH$ VÎd 200 pm H$mopîR>H$m H$moa Ho$ gmW fcc EH$H$ H$mopîR>H$m Ho$ ê$n _| 
{H«$ñQ>brH¥$V hmoVm h¡ & `{X Bg VÎd Ho$ 200 g _| 24  1023 na_mUw CnpñWV 
h¢, Vmo BgH$m KZËd n[aH${bV H$s{OE &  3 

An element crystallizes in a structure having a fcc unit cell of 

an edge 200 pm. Calculate the density, if 200 g of this element 

contains 24  1023 atoms. 

12. 298 K na {ZåZ{b{IV gob H$m {d.dm.~b (emf) n[aH${bV H$s{OE : 3 

 Mg (s) | Mg2+ (0·01 M) || Ag+ (0·0001 M) | Ag (s) 

 [{X`m J`m h¡ :   0

Mg2Mg /
E


= – 2·37 V;   0

AgAg /
E


 = + 0·80 V]  

AWdm 

 0·001 mol L–1, CH3COOH {db`Z H$s MmbH$Vm 4·95  10–5 S cm–1  
h¡ & BgH$s _moba MmbH$Vm Am¡a {d`moOZ H$s _mÌm () n[aH${bV H$s{OE &  3 

 [{X`m J`m h¡ :  0

H
   =  349·6 S cm2 mol–1  Ed§ 

                       0
–COO3CH

   =  40·9 S cm2 mol–1]     

Calculate emf for the following cell at 298 K : 

Mg (s) | Mg2+ (0·01 M) || Ag+ (0·0001 M) | Ag (s)  

[Given : 0

Mg2Mg /
E


= – 2·37 V;   0

AgAg /
E


 = + 0·80 V]  

OR   
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The conductivity of 0·001 mol L–1 solution of CH3COOH is  

4·95  10–5 S cm–1. Calculate its molar conductivity and degree 

of dissociation ().  

 [Given :  0

H
   =  349·6 S cm2 mol–1  and 

                0
–COO3CH

   =  40·9 S cm2 mol–1] 

13. EH$ àW_ H$mo{Q> H$s A{^{H«$`m H$mo 25% AnKQ>Z hmoZo _| 10 {_ZQ> bJVo  h¢ & 
A{^{H«$`m H$s t1/2 n[aH${bV H$s{OE &   3 

 [{X`m J`m h¡ :  log 2 = 0.3010,  log 3 = 0.4771,  log 4 = 0.6021] 
A first order reaction takes 10 minutes for 25% decomposition. 

Calculate t1/2 for the reaction.    

[Given : log 2 = 0.3010,  log 3 = 0.4771,  log 4 = 0.6021] 

14. {ZåZ{b{IV H$mo n[a^m{fV H$s{OE :  3   
(a) ~«mCZr J{V     
(b) ~hþAmpÊdH$ H$mobm°BS>  
(c) g_m§Jr CËàoaU  
Define the following :  

(a) Brownian Movement    

(b) Multimolecular Colloids 

(c) Homogeneous Catalysis   

15. {ZåZ{b{IV Ho$ {bE H$maU Xr{OE : 3 

(a) g§Hw$b [Ag(CN)2] go YmpËdH$ {gëda H$s nwZ: àm{ßV Ho$ {bE qµOH$ 
à`wº$ hmoVm h¡ Z {H$ H$m°na &  

(b) Eobw{_Zm H$m grYo hr d¡ÚwV-AnKQ>Z Z H$aHo$ CgH$m H«$m`mobmBQ> _| KmobH$a 
{dÚwV²-AnKQ>Z {H$`m OmVm h¡ &  

(c) qµOH$ Am°ŠgmBS> H$mo H$m~©Z Ho$ gmW J_© H$aHo$ YmVw _| AnM{`V {H$`m Om 
gH$Vm h¡ bo{H$Z Cr2O3 H$mo Zht &   
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Give reasons for the following : 

(a) Zinc and not copper is used for the recovery of metallic 

silver from complex [Ag(CN)2]. 

(b) Alumina is dissolved in cryolite for electrolysis instead of 

being electrolysed directly.   

(c) Zinc oxide can be reduced to metal by heating with 

carbon but not Cr2O3.   

16. {ZåZ{b{IV Ho$ {bE H$maU {b{IE : 3 

(a) H$moB© YmVw AnZr CƒV_ Am°ŠgrH$aU AdñWm Ho$db Am°ŠgmBS AWdm 
âbwAmoamBS> _| hr àX{e©V H$aVr h¡ &   

(b) g§H«$_U YmVwE± a§JrZ `m¡{JH$ ~ZmVr h¢ & 

(c) g§H«$_U VÎd A§VamH$mer `m¡{JH$ ~ZmVo h¢ &     
Account for the following :  

(a) The highest oxidation state of a metal is exhibited in its 

oxides or fluorides only.    

(b) Transition metals form coloured compounds.  

(c) Transition elements form interstitial compounds.  

17. (a) [Ni(CO)4] H$s MVwî\$bH$s` Á`m{_{V hmoVr h¡ O~{H$ [Ni(CN)4]2–  H$s 

dJ© g_Vbr` & Š`m| ?    

(b) K2[Ni(CN)4] H$m AmB©.`y.nr.E.gr. Zm_ {b{IE & 

(c) [Fe(CN)6]3– H$m g§H$aU Am¡a AmH¥${V {b{IE &    3 

(a) [Ni(CO)4] possesses tetrahedral geometry while  

[Ni(CN)4]2– is square planar. Why ?   

(b) Write the IUPAC name of K2[Ni(CN)4].  

(c) Write the hybridization and shape of [Fe(CN)6]3–. 
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18. (a)

    
H$m AmB©.`y.nr.E.gr. Zm_ {b{IE & 

 
(b) 2-~«mo_monoÝQ>oZ Ho$ {dhmBS´>moh¡bmoOZrH$aU go ~ZZo dmbr g^r EoëH$sZm| H$s 

àmJw{º$ H$s{OE &   

(c) {ZåZ{b{IV h¡bmBS>m| H$mo SN2 A{^{H«$`merbVm Ho$ ~‹T>Vo hþE H«$_ _| 
ì`dpñWV H$s{OE :  

 CH3Cl,  CH3CH2Cl,  (CH3)2CHCl 3  

(a) Write the IUPAC name of  .

        
(b) Predict all alkenes that would be formed by the 

dehydrohalogenation of 2-bromopentane.     

(c) Arrange the following halides in the order of increasing 

SN2 reactivity :   

  CH3Cl,  CH3CH2Cl,  (CH3)2CHCl  

19. EH$ H$m~©{ZH$ `m¡{JH$ (A) {OgH$m AmpÊdH$ gyÌ C6H6O h¡, aq. FeCl3 

{db`Z Ho$ gmW A{^bmj{UH$ a§J XoVm h¡ &  400 K Vmn Am¡a Xm~ na O~ (A) 

H$mo CO2 Am¡a NaOH Ho$ gmW A{^H¥$V {H$`m OmVm h¡, Vmo `m¡{JH$ (B) àmßV 
hmoVm h¡ & `m¡{JH$ (B) AåbrH¥$V {H$E OmZo na `m¡{JH$ (C) XoVm h¡ Omo Eogr{Q>b 
ŠbmoamBS> go A{^{H«$`m H$aHo$ (D) ~ZmVm h¡ Omo EH$ bmoH${à` nr‹S>mhmar h¡ & A, 

B, C Am¡a D H$s g§aMZmE± {b{IE &     3  

An organic compound (A) having molecular formula C6H6O 

gives a characteristic colour with aq. FeCl3 solution. When (A) 

is treated with CO2 and NaOH at 400 K under pressure, (B) is 

obtained. The compound (B) on acidification  gives compound 

(C) which reacts with acetyl chloride to form (D) which is a 

popular pain killer. Write the structures of A, B, C and D.      
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20. {ZåZ{b{IV Ho$ {bE H$maU Xr{OE :  3  

(a) _o{Wb Eo_rZ Obr` {db`Z _| FeCl3 Ho$ gmW bmb ^yam Adjon XoVm  
h¡ &   

(b) A_mo{Z`m H$s VwbZm _| E{Wb Eo_rZ à~bVa jma h¡ &   

(c) CH3CH2CH2CH2 – NH2 H$s Anojm (CH3)3C – NH2 H$m 
ŠdWZm§H$ {ZåZVa hmoVm h¡ `Ú{n àH¥${V _| XmoZm| hr g_md`dr h¢ &     

Give reasons for the following : 

(a) Methyl amine in aqueous solution gives reddish brown 

precipitate with ferric chloride (FeCl3).  

(b) Ethyl amine is a stronger base than ammonia. 

(c) (CH3)3C – NH2 has a lower boiling point than  

CH3CH2CH2CH2 – NH2 although both are isomeric in 

nature.         

21. (a) {ZåZ{b{IV ~hþbH$s` g§aMZm _| EH$bH$m| H$s nhMmZ H$s{OE :  

   

(b) ~hþbH$m| _| CnpñWV A§Vam-AmpÊdH$ ~bm| Ho$ n[a_mU Ho$ AmYma na 
nm°{bdmB{Zëg {H$g Cng_yh Ho$ h¢ ?     

(c) Q>oarbrZ Ho$ EH$bH$ {b{IE &   3 

(a) Identify the monomers in the following polymeric 

structure :  
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(b) On the basis of forces between their molecules in a 

polymer, which class do polyvinyls belong to ?    

(c) Write the monomers of Terylene.      

22. (a) n`m©daU H$s ÑpîQ> go gm~wZ à`moJ H$aZm gwa{jV Š`m| h¡ ?   

(b) ny{Vamo{Y`m| Am¡a {dg§H«$m{_`m| _| _yb^yV AÝVa Š`m h¡ ?    

(c) AMma {~Zm ˜am~ hþE _hrZm| aIo ahVo h¢ & Š`m| ?   3 

(a) Why is it safer to use soaps  from the environmental 

point of view ?    

(b) What is the basic difference between antiseptics and 

disinfectants ?   

(c) Pickles have a long shelf life and do not get spoiled for 

months. Why ?      

23. {_. no{_b Ho$ H$m`m©b` _| H$m`©aV EH$ Mnamgr g§O`, CZHo$ H$_ao Ho$ ~mha  
I‹S>o-I‹S>o _ypÀN>©V hmo J`m & {_. no{_b Cgo g_rn Ho$ AñnVmb bo JE Ohm± Om±M 
go nVm Mbm {H$ dh J§^ra ê$n go ‘Aaº$H$’ h¡ & S>m°ŠQ>a Zo Cgo bm¡h àMwa Amhma 
Am¡a ~hþ{dQ>m{_Z (_ëQ>r{dQ>m{_Z) nyaH$ {ZYm©[aV {H$E & {_. no{_b Zo CgHo$ 
n[adma H$mo Am¡f{Y`m± àmßV H$aZo Ho$ {bE ghm`Vm Xr &  20 – 25 {XZm| Ho$ ~mX 
Om±M Ûmam nVm Mbm {H$ A~ dh gm_mÝ` pñW{V _| h¡ &      

 {ZåZ{b{IV àíZm| Ho$ CÎma Xr{OE :  4 

(a) {_. no{_b Ûmam Š`m (Xmo) _yë` àX{e©V {H$E ?   

(b) Cg {dQ>m{_Z H$m Zm_ {b{IE {OgH$s H$_r go ‘àUmer aº$mënVm’ hmo OmVr 
h¡ &   

(c) Ob _| {dbo` {dQ>m{_Z H$m EH$ CXmhaU Xr{OE &  

(d) àUmer aº$mënVm Ho$ CnMma Ho$ {bE Amdí`H$ {dQ>m{_Zm| Ho$ Xmo òmoVm| Ho$ 
Zm_ {b{IE &  
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Sanjay, a peon working in Mr. Pamil’s office, fainted while 

standing outside his room. Mr. Pamil took him to the nearby 

hospital where he was diagnosed to be severely ‘anaemic’. The 

doctor prescribed an iron rich diet and multivitamin 

supplement to him.  Mr. Pamil supported his family to get the 

medicines. After 20 – 25 days he was diagnosed to be normal.    

Answer the following questions : 

(a) What values (two) are displayed by Mr. Pamil ?  

(b) Name the vitamin whose deficiency causes ‘Pernicious 

Anaemia’.  

(c) Give an example of a water soluble vitamin.   

(d) Name two sources of vitamins needed to treat Pernicious 

Anaemia.  

24. (a) {H$gr Admînerb {dbo` Ho$ 5·0 g H$mo 95 g nmZr _| KmobH$a EH$ 
{db`Z ~Zm`m J`m &  25C na BgH$m dmîn Xm~ 23·375 mmHg h¡ & 
{dbo` H$m _moba Ðì`_mZ n[aH${bV H$s{OE &  25C na ewÕ nmZr H$m 
dmîn Xm~ 23·75 mmHg h¡ & 

(b) {ZåZ{b{IV Ho$ {bE H$maU Xr{OE :  

(i) namgaU Xm~ H$mo AUwg§»` JwUY_© _mZm OmVm h¡ &   

(ii) gm§ÐVm ì`º$ H$aZo Ho$ {bE _mobaVm H$s VwbZm _| _mobbVm EH$ 
~ohVa {dH$ën h¡ &  3+2 

AWdm 

 (a) CaCl2 (_moba Ðì`_mZ = 111 g mol–1) H$s {H$VZr _mÌm 500 g nmZr 
_| Kmobr OmE Vm{H$ {h_m§H$ AdZ_Z 2 K hmo OmE, `h _mZVo hþE {H$ 
CaCl2 nyU©V`m {d`mo{OV h¡ ?   

  (nmZr Ho$ {bE Kf = 1·86 K kg mol–1)   

 (b) (i) Š`m hmoVm h¡ O~ é{Ya H$mo{eH$mE± AmgwV Ob _| aIr OmVr h¢ ?    

(ii) Šbmoamo\$m°_© Am¡a EogrQ>moZ H$mo {_bmZo na Vmn _| d¥{Õ Š`m| XoIr OmVr 

h¡ ?   3+2 
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(a) A solution is prepared by dissolving 5·0 g of a non-volatile 

solute in 95 g of water. It has a vapour pressure of  

23·375 mmHg at 25C. Calculate the molar mass of the 

solute. Vapour pressure of pure water at 25C is  

23·75 mmHg. 

(b) Give reasons for the following : 

(i) Osmotic pressure is considered to be a colligative 

property. 

(ii) Molality is a better option to express concentration 

in comparison to molarity.     

OR   

(a) Calculate the amount of CaCl2 (molar mass = 111 g mol–1) 

which must be added to 500 g of water to lower its 

freezing point by 2 K, assuming CaCl2 is completely 

dissociated.  

 (Kf  for water = 1·86 K kg mol–1) 

(b) (i)  What happens when blood cells are placed in 

distilled water ?    

(ii) Why is increase in temperature observed on mixing 

chloroform with acetone ?   

25. {ZåZ{b{IV Ho$ {bE H$maU {b{IE : 5 

(a) ŠbmoarZ Ob bå~o g_` Ho$ ~mX AnZm nrbm a§J Imo XoVm h¡ &     

(b) Cl2 H$s Anojm F2 H$s Am~ÝY {d`moOZ EÝW¡ënr {ZåZVa hmoVr h¡ &    

(c) dJ© 15 Ho$ g^r hmBS´>mBS>m| _| go BiH3 à~bV_ AnMm`H$ h¡ & 

(d) CËH¥$îQ> J¡gm| Ho$ ŠdWZm§H$ {ZåZ hmoVo h¢ &  

(e) AmoµOmoZ H$mo KI {db`Z _| {_bmZo na ~¢JZr dmîn àmßV hmoVo h¢ &     

AWdm 
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 (a) {ZåZ{b{IV A{^{H«$`mAm| Ho$ {bE g§Vw{bV amgm`{ZH$ g_rH$aU Xr{OE :   

(i) XeF2 + H2O  

(ii) XeF6 + NaF  

(iii) XeF4 + SbF5     

(b) {ZåZ{b{IV H$s g§aMZmE± Amao{IV H$s{OE :     

(i) H4P2O7 

(ii) XeF4  3+2 

Account for the following : 

(a) Chlorine water on standing loses its yellow colour.     

(b) F2 has lower bond dissociation enthalpy than Cl2.    

(c) BiH3 is the strongest reducing agent amongst all the 

hydrides of group 15.  

(d) Noble gases have low boiling points.  

(e) On addition of ozone to KI solution, violet vapours are 

obtained.  

OR 

(a) Give balanced chemical equations for the following 

reactions :   

(i) XeF2 + H2O  

(ii) XeF6 + NaF  

(iii) XeF4 + SbF5   

(b) Draw the structures of the following :  

(i) H4P2O7 

(ii) XeF4 



56(B) 14 

26. (a) {ZåZ{b{IV n[adV©Z H¡$go g§nÞ {H$E OmVo h¢ ?  

(i) ~oÝµOmoBH$ Aåb go ~oÝµOrZ     

(ii) EWoZmoBb ŠbmoamBS> go EogrQ>moZ  

(iii) EogrQ>moµ\$sZmoZ go E{Wb ~oÝµOrZ      

(b) {ZåZ{b{IV `m¡{JH$ `wJbm| _| {d^oX H$aZo Ho$ {bE amgm`{ZH$ narjU  
Xr{OE :    

(i) ~oÝµO¡pëS>hmBS>> Am¡a EogrQ>moµ\$sZmoZ  

(ii) EWoZ¡b Am¡a àmonoZ¡b  3+2  

AWdm 

 (a) {ZåZ{b{IV Ho$ {bE H$maU Xr{OE :  

(i) Eogr{Q>H$ Aåb H$s Anojm Šbmoamo Eogr{Q>H$ Aåb à~bVa h¡ &  

(ii) Zm{^H$amJr A{^H$_©H$m| Ho$ à{V H$sQ>moZm| H$s VwbZm _| EopëS>hmBS> 
A{YH$ A{^{H«$`merb hmoVo h¢ &   

(iii) \$m°_}pëS>hmBS> EoëS>mob g§KZZ _| ^mJ Zht boVm h¡ &        

(b) {ZåZ{b{IV A{^{H«$`mAm| _| A Am¡a B H$s g§aMZmE± {b{IE :    

           3+2
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(a) How are the following conversions carried out ? 

(i) Benzoic acid to Benzene  

(ii) Ethanoyl Chloride to Acetone 

(iii) Acetophenone to Ethyl Benzene        

(b) Give chemical tests to distinguish between the following 

pairs of compounds :   

(i) Benzaldehyde and Acetophenone  

(ii) Ethanal and Propanal    

OR 

(a) Give reasons for the following :   

(i) Chloro acetic acid is stronger than acetic acid.  

(ii) Aldehydes are more reactive than ketones towards 

nucleophilic reagents.  

(iii) Formaldehyde does not take part in Aldol 

condensation.  

(b) Write the structures of A and B in the following  

reactions :     
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